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efevrudlwey / ZOOLOGY

(B LHYD @Al el / Tamil & English Version )

[ Qurgg mﬂ&@uaﬁwzsﬁ : 70

sray aray : 3.00 wafl GBI ]
[ Maximum Marks : 70

Time Allowed : 3.00 Hours |

sflayeras : (1) Simarsg eflamss@y sflurs Lfaurd eaaTsT TaTLINS affﬂu"ffé@*f
Qameterayd. FsLLFeln Gapuimoden s samsraflumerflLd

e Lenqwrs Qgflediése,i.
2 Bob ooesy souy ovdea wLECL TWHUSHGL
Si5CaTQeusn@L Lwau®ss Geuam®L. UL A& auangausn @

Quendléd LweETURSSLD.
Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@d - 1/ PART - 1
Goloy : () Semenss mﬁlmrrésa;@s@ﬁ el wefl&sayb. 15x1=15

M) GarhEsnu(erer BReNE wWIHH HerLsefld Slesa|b ghyemL L
elerLenwis Coib0sMS8E GRS HLer elenulemanyb GaTgs eT(HSeyLD.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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() Gu@anm&u@t—"ﬁw ) Quisdy ML &&ETUY

(%) 2 hQawe FHE SMLG&MLL

(@) 5ﬁ$$l-b 11 T

s injured and got swelling. he swelling, due to the infection of tissue is an
A person
example of :

M : ;
(a) PhagothOSis L echanical barrier

d)  Physiologi :
(c) Inflammation (d) ysiological barrier

én P @Qur(HaT samLHwiLC L Garimen
2. WS

i —— 0. Q5
SO Germ S @sSnSTe GG < GLD.

JUU, Sa9aaed geoemaret (<) AAA, UCrreneven

=
E@)) TTT, gr‘r@mméﬂ (") GGG, Sjivenanen
The first codon to be deciphered was which codes for
(a) UUU, Phenylalanine (b) AAA, Proline
() TITT, Arginine (d) GGG, Alanine

3. seuprs QuIGBSLETeTeUDEOD CaosH.

(<=i) everens-QueLi Sam Grmd - XXY QuiaTgeT

(=) Layamr Sar_Crmd 21 lq.G!DIJ‘G&n'Lﬂ

(@) Lienit Aawr_Crmbd XO Quenrger

(F) ulimey e Crmid - 13 georGamdl
Find out the wrongly matched pau:

(a) Klinefelter's Syndrome - XXY Female

(b) Down's Syndrome - Trisomy-21

(c) Turner's Syndrome - XO Female

(d) Patau’s Syndrome . Trisomy-13
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Buram_isnd weliselar gpeer siema] -

(<=t) 200 5.Qs.48. (<) 650 - 800 &.Qs.15.
(@) 100 5855, (7) 1200 5.Qs.5.
The Neanderthal man had the brain capacity of :

(@) 90 cc (b)  650-800 cc

() M0« (d) 1200 cc

&ip o 66T GUESEET, Undefiu urdellaear Crmis Gmas GHLYES.

(=) S5, QarCamiiur, werGarGurafluralc

(<) Srpd. Gt el Grmi whmb Caangipwraicy

(@) 8738, verGarCurefiuralan, QuggCarais

(r) Srpd, SamBnwreley, Qeu e Grmi

Which one of the following groups includes sexually transmitted diseases caused by bacteria

only ?

(@) Svphilis, gonorrhoea and trichomoniasis
(b) Svphilis, gonorrhoea and candidiasis

()  Svphilis, trichomoniasis and pediculosis
(d) Svphilis, chlamydiasis and gonorrhoea

TOVET (PSTENOWINE vwetu@Eng.

(=) Ambussss vamsaar Qarar detigsmeas GCaiey Cewiw
(<) Hefr LIDYRAISHETE SeRTLHlLI

(@) ApBbussss LSHMULW Frarhsoas Caiey G
(7) Crrusdmilssad e

ELISA is mainly used for :

(a) Selecting animals having desired traits

(b) Detection of mutations

(c) Selecting plants having desired traits

(d) Detection of pathogens

[ Q(lbl:ll_las / Turn over
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Gwbas QDL G@den L) myhHmadk Chm_thid) eauiugb Qg isfluines gyaeg
aeudsD 2 gayb apsdli pomiGLome :

(«21) LYGymevrdig.eom (ezp) e Grrmpgen
(@) =ysalCLrélen () FSH

The most important hormone in initiating and maintaining lactation after birth js :

(a) Prolactin (b) Oestrogen
(c)  Oxytocin (d) FsH
DOl Qauwar.e ugdsaled Aaeyi GHYEGPD  HaenEET

e-Wfleriigeflen pdlernorssd LHYD UdMES FaTeindEE
EMBHHEIDNG ©_emeney,

SNYEwILD ; UGausTa, sLubatuflam, miugb, galléstan 2,8l weneu
TDEGHDW Blenaiinseyd, 2_shgsrseyib 2_GITerg,.

(31) ndgy & gpammad sayevend Fougy.

(%) &nrewerd wHmIb saHEy @reamBin s, smyewmn gapenp sflwns eflenéesng.
(@) Enppy wppb sMyewTD Gran(in oy,

() &mremid wHph sapg &M ayearre smyewmd gapenp sfluns lenéseidena.

Assertion ; The Environmental conditions of the Tropics are favourable for speciation
and diversity of organisms.

Reason : The climale scasons, temperature, humidity and photo period are more or
less stable and congenial.

(a)  Assertion is true, but Reason is false,
(b)  Both Assertion and Reason are true and Reason explains Assertion correctly.
(c)  Both Assertion and Reason are falso.

(d) Both Assertion and Reason are true but Reason is not the correct explanation of
- Assertion,
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(1) UGS PURIBMWeTdT |G(pEIFmMeUTET PEHSELDGUTEN
() | @S5 WG (P MBI HEn LDGU e LGS R(PhseLeTET
(8) |ppBsemwauren PSSELDGUTEN UGS PUBGMLDEUTE
(FF) |@priseneure UGS RPEISmLTE |QRSSEMLOAUTET

The figure given below is a diagrammatic representation of response of organisms to abiotic

factors. What do A, B and C represent respectively ?

I‘ A
=1
g B
TU p
c

g
8

External Level —> |

A B 8

(a) |Partial Regulator Regulator Conformer
(b) [Conformer Regulator Partial Regulator
(c) |Regulator Conformer Partial Regulator
(d) |Regulator Partial Regulator Conformer
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undleNurede unéd @aUCLGESD &idsem_ apg (pemuller panQupdlmg ?

(<) @ememse (@) Gl & Haurésid

(@) @evGur o (HAUNEELD (7) erenGLreuGurt o (pauréaid
The mode of sexual reproduction in bﬂcte_ria is by :

(a) Conjugation (b)  Formation of gametes

() Zoospore formation (d) Endospore formation

Csflu @Al UdUDESEE@LD BOELEHT FoMLWSD TG
D DHF T ?

(=) QLeved () pLoeu (@) Qsrisgsr () Qseravan
The headquarters of the National Biodiversity Authority is situated in
(a) Delhi () Mumbai (c) Kolkata (d) Chennai

Qriiyenw Couamasemend CaLI&ln wyLigy LS8 erenm QUi

(1) Qrésrenser (<) Ol Lrenser
(@) eurranser (F) fev premaer
The clusters of gene with related functions are called as

(@) Recons ' (b) Mutons

() Operons (d) Cistrons

Spssam_aupyer aps Henandf, Osmfibsraasaisn AN < 2 HUSHEE,
Lweruhmg ?

(1) evuigdéaen apg (<) or&CLICuldaay LdaETay

(8) erCeruev epéAsenan (F) Quaflfldwd Apdernd

Which of the following micro-organisms is used for production of citric acid in Industries ?
(@) Aspergillus niger (b) Lactobacillus bulgaris

(c) Rhizopus nigricans (d) Penicillium citrinum

LG CLreuQwiflen ¢Gsmen oi(HESen sigoaman SjaTeilL Lwetu(heug

(1) Quasear gmes (<) edeuiiev e (SU)
(8) GesGuri yareyCamed (/) Lmisen Sjeg (DU)
The “thickness’ of Stratospheric Ozone layer is measured in :

(@) Melson units (b) Sieverts units

(c) Beaufort scale (d) Dobson units
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afGorGsmullen eranig) :

(@) GenrevGiomigund Geangedeslmpg) QeueliGugyin pam
(<) ,@lﬁcm"@cm"ﬂsﬂm perGenimig.

(@) afGwroua @QmbHdmbg CaeGugb pas
() e QruGLranssadedmng QeaualGumin béa:
Haemozoin is :

(a) A toxin from Plasmodium specics
(b) A precursor of haemoglobin

© A toxin from Haemophilus species
(d) A toxin from Streptococcus

u@d\ - 11/ PART - 11

sLLmuwns elen_welésayb.

Note : Answer any six questions. Question No. 24 is Compulsory.

16.

17.

18.

19.

20.

QL wrdlu sTaubD eramrd eratar ?

What is ectopic pregnancy ?

pEihs elpsanelear UL uebs UTshismends: GHlése L.

Draw and mention the parts of a spermatozoan.

8337

amaGugih oy damésenss oo welssayb. e aar 24 -5@

6x2=12

g.erem.er Crans o&flellen LwenurHaafled FCsEID Qe et SHs.

Give any two applications of DNA finger printing.

Qgrenenowmer WBludd sremiul L aumydsamars Ul igwell@s.

List out the major gases seems to be found in the primitive earth.

walls Qarsden uflanmns CarhpsHean Heoasmer EHCHréE aflmsie

auflensliu(h58)5.

gl rCardsdsam — CaprGur ersd — GaprGuor Csulbwenew -

gror Agdse — GCaprGum apmeilev

Rearrange the descent in human evolution.

Australopithecus — Homo erectus — Homo sapiens — Ramapithecus — Homo habilis
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21. wails o LibQer ungsTdew e-Bphi eréieung Cswdiibng 2

How does Saliva act in body defence ?

22. mewgpuilfserme o pUSH QeLwiu®n e ulflu Gewd Smayerer perssamsen
@\renTig enemyLd, SuDMIEN LILIGTEem e B[,
Give any two bioactive molecules produced by microbes and state their uses.

23, Uy GYasE Qs GTEMDTE) GTemen ?
What is Acclimatisation ?

24. Gpuiy eSzid wpmb @O 6B erenpra eraman ?
Differentiate Natality and Mortality.
u@S) - 11/ PART - [1]
GPILY : amaCueyd S STTEsE@ES oo walssayn. dar aanr 33 -6
SL_Lmuwons eferLwaflléseyb. 6x3=18
Note:  Answer any six questions. Question No. 33 is Compulsory.

25. deraypsed wppd FJILTEO Hduadons sGHE TOEHEETLHLE
Coaumuh58)s.

Differentiate Fission and Fragmentation with suitable examples.

26. Spssaeupdpster elfleurssn Hms.

(1) ZIFT

(2) ICSI

(3) IUT

Give the expansion for the following.
(1) ZIFT

(2) ICSI

3) IUT

27.  GMSEG LOEES LILESLESH TapTe) renan ? THSHESTL(D Hms.
What is criss-cross inheritance ? Give example.

28. Spssrann LKOWLESsD SAwddsTar GHSLH auflensuliemiig, 2 eurdsliu@ibd
&gl <y erarn o -efleh 2 arer FlysefCuren () euflensulenen TGS,
5' TGCATGCATGCATGCATGCATGCATGC 3'
If the coding sequence in a transcription unit is written as follows :

5' TGCATGCATGCATGCATGCATGCATGC 3'
Write down the nucleotide sequence of mRNA.
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Spsangd Si-Laumanew fepay Qau.

CrmlseT Crniiganyen CrmisLEMHpILD gL |
|_{|'_|._rre1T LDenLD
Slemenmbenid
QL@ SMUEFE B

Complete the following table,

Diseases Causative agent Site of infections

Mumps

Chicken pox

Den gue fever

2 Wiflwg Siay erampred erean ? wisen umBSMETE G s
What is bioremediation ? Mention their types.

26 W96 wrugy Adsms wap wob Guaurear FUGIEEMET Pk
wrllwe Gapur@semer sfQsiiw elepdamant. Gseame 2 ui fluden Qaweoumr(Hser
Beart@Qupliu@éermer.

@snE wrpprs wrugnedar 2 Husd Qurmarrer ABTE wWTHH Heéms poD
e 2 uifluler Qeudur@ser WarliQupliu®élamer.

CopEHuar L @ran® weonselsd Spbss s ear Sl smgSlami ? sriser
FH(HSHEHEHESTE STTETREMTS GHIULLab.

Gene Therapy is an attempt to correct a Genetic defect by providing a normal gene into the

individual. By this the function can be restored.

An alternate method could be to provide gene product known as enzyme replacement therapy,
which would also restore the function.

Which in your opinion is a better option ?
Give reasons for your answer.

@idwrelgietar Wlens e depi e uiflans uGlsar rsgamen ? Siaupenp QuwfBs.
How many HOTSPOTS are there in INDIA ? Name them.

Caarrar CauflLQurmLsdr eapred erdten ? Sjaupap ALHELISL
LwETURSSIeETD FHUEDL edeaaeysdr gGCaEID Qremgeens GHLEGAGHS.
What is meant by agrochemicals ? Mention any 2 (Two) effects of over usage of agrochemicals.

[ &mLins / Tum over
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Note

34.

35.

36.

37.
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u@$ - IV/PART - IV

: Answer all the questions.

(1) Ll SiSTLEGHE Bl 6flarsEs,
3|6060g)
(=) wry SiguueLde wallgailen ABO G)rjs auensews efleuflssay.

(a) Explain the structure of the Human ovary.
OR

(b)  Explain the genetic basis of ABO Blood grouping in man.

(1) Rh - sryesiuiien @emésiblenenn Lpi TGS Seuhenm creueum SHESOMD ?
360605
(<) AinHlemsar wrupmt CureusTed HUBLDL apeny srés Henasmer efleuflsaa.
(@) Write about incompatibility of Rh factor and how it can be prevented ?
OR

(b) Explain the three level of impact of extinction of species.‘

(<=1) wells wrugy FHLsdlen ApLidwesedr gCsayb phdaas GHUNDE.
ETNLME)
(=) Gureng LHMID WFMe u@ruamnuiead LwaTLRSGu®SS 5055 Ha
auflaeners uflbgieny QFwls.
(@) Mention any five salient features of Human Genome Project.
OR
(b) Suggest some ways to prevent drug and alcohol abuse.

(=t) QuwGamEgCearmyedlen SenwlienL §Ehs ULSFILa edlaéEs.
SV
(=) Pl 2 flamiseild sramiu@b ssuemwlLsmar eeréEs.

(a) Explain the structure of immunoglobulin with suitable diagram.
OR
(b) List the adaptations seen in terrestrial animals.
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38. (=) 1-Gaitey Qewis wHmb k-Ggiey Gellg é\g;@mms@é;élml_cu.l o _GTarT
CaupgurHsers sams.
S|V
(=) Hm GHIOY uers :
@) urHSTEELULL uGdser

(i) euemelleiiE LsL e

(i) WWF
(a) . Differentiate between r-selected and k-selected species.
OR
(b) Write short notes on :
(i) Protected areas
(i) Wild life sanctuaries
(i) WWEF
-000-
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